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A store owner pays a sales clerk $12/h for c ach hour worked. The assistant manager of the
store earns one-and-a-half times the clerk’s hourly wage and the manager of the store earns

(wo-and-a-half times the clerk’s hourly wage.

In total, how much money is paid to the three employees in one day if the sales clerk, the
assistant manager, and the manager each work 7.25h?
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Tara, Jennifer, and Mindy donated some money to a charity. Jennifer donated twice as much

as Tara, and Mindy donated $10 less than Jennifer. T o]
P _ B S
4
7. If the total amount donated to the charity is $50, then how much money did Tara donate? AN \
N\
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gﬁnnie buys a horse for $750 (including GST). She considers the two payment plans shown
elow.

Plan1 Pay $150 now and $25 each month
Plan2  Pay $200 now and $55 each month

27. How many fewer monthly payments could Connie make if she selects Plan 2?

f,#‘SD -, (50 +-=r 60O then M= 24 momdhs

B. 14 $200 3 _-., 550/*]}( v :—'JOMDG”’S
C. 20 9‘1-‘_\_6___________.
D. 24 _ W 14 wonthg

¥ ‘ The following list shows Rick’s yearly vehicle expenses. |

. e Insurance: $1 200 , ’
‘ ¢ Gasoline:  $1 300 ag5 D .
‘ * Repairs: $850 : ‘

32. If Rick works 8 hours/day, 5 days/week, and takes home $10/hour, then what is
the least number of complete weeks he must work in order to pay for all his yearly

vehicle expenses? , MU&T Pﬁ :ﬁ $ 33 5@
A. 6 weeks g kobf‘éé{x 5 a\d:js Jwedls = 4o }’)DU\"S/U)&J

B. 7 weeks ,

C. 8 weeks Yo bB'&S/weﬂé x $JQ/M z ‘/OOEF weex.
Q9w ) | 3350/i00 * B34S weakls 2

28. Tim buys 2 kg of almonds at $5.49/kg and 4 kg of cashews at a store that includes
GSTin its prices. If the cost of his purchase is $25.50, then the price of 1 kg of

cashews is aimends

Cn me ) 25 <35t/ $10.98 ahmonds

B, %26 £ 550 . $10.98 almondS + (4 k4 caghaurs )
C. $1098

D. $14.52 41Y. 52 fo" ,,“8 Caohads

SR NGE,



In one month, Dale earned $180.00. He carned $45.00 by washing cars, and the rest by
mowing lawns.

5 How many lawns did Dale mow if he received $9.00 for each Iawn that he mowed?
Answer: 1s lawns | €2 - yg - $ 135 -@‘4” ToN2Y
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l Alan, Bob, and Charles worked together on a job and earned a combined total of ‘
- $380. Alan earned $40 less than Bob. Charles carned twice as much as Alan.

§e4<)p an qﬁﬁ'on alon + B+ e,\_s 280 ﬁi’ﬁ'@ﬁﬁ
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How much did Alan earn’ 125 -46 .$g§
B-yp+8+ 2B-80 =30 3 UGB = S0
I — . )
Answer: $ IB - 1> 125
Yz - (20- 380 =
Record your answer in the numerical-response section on the answer sheet.
Ug: 3854/2D (Recordy P ’3
Amy has already saved $30 toward the purchase of a new camera that has a total cost of $233. O W‘:’V\"__"_‘*"\-
She carns the rest of the money she needs to buy the camera by babysitting her sister. Each time she 06 12.3

babysits, she is paid $15.
i / @Sneeds-. 3235 - $ 580 = 31__3_; @étg‘s
_ TO:Fiaure ot how rany ftimes she hag +o b@g’lT-? s

What is the minimum number of times Amy must babysit her sister in order to earn enough money to purchase

the camera? —

Answer: - times

{Record vour answer in the numeri
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A piggy bank contains only quarters and nickels, and there is a total of 60 coins.
The total value of the coins in the bank is $7.40.

0.258X + 005 (& -X)=740 | .
0.25x + 2-0.05x ume E Tespones 0.26x + 0.05y : .40

and XX TEo whet k¥
n How many quarters are in the piggy bank? Gf g;:’_ m @Jﬂp{‘eﬂ
_Answer: l& _‘_"\/) M =2 nickel
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Patricia wants to buy a new pair of ice skates that cost $250 including GST. She already has //
$86 she plans to use towards this purchase. She earns $10.25/hour at her part-time job.

P Pvccdn, neds = 250 = b = et

ar $10.26 per hour

I8 What is the minimum number of hours that she must work to save enough money to purchase

the pair of ice skafes? L
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Jennifer wants to buy a computer that costs $2 000, including all taxes. She '
will make a down payment of $500 and arrange to make 5 equal payments for

{ the balance owing. G CO,-\S’HM‘
39.

Which of the following expressions can Jennifer use to determine the amount of

each of the 5 equal payments? . .
4500 IS UKe & "ﬂr:]’ Fe,e/‘
£,  ($2000-500)+5

B. ($2000_500) x5 - 2000 - Soo = %1500 VN D P@f’neﬂ?’:{'
C. ($2000 x 5)—3500 $' So0
D. ($2000+ 5)- 500 = = 30

/ l Emily’s cellphone plan charges her $0.05 per text message, $0.06 per minute of voice usage
| and a $5.00 base fee each month. N
'_'_V-J

T .]mar @@ — 5t 0.05t4 poem

($78Tcg0 . B 4 0.05(33)+ O-06(%)
T 54 1L65 4 2.8

growing season is 1.3 times its initial height. In the second growing season, the tree grows 145 cmto

:  Rahim plants a tree in his vard and records its initial height. The height of the tree at the end of the first
/ reach a total height of 71.7 cm.
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- What was the initial height of the tree in centimetres?

Answer: _em L. 3X = 57.2, 542
) . . <o AT T
(Record your answer in the numerical-response section on the answer sheet.) 4 .3
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‘/On a bike trip, Patrick rides at a constant speed of 14.4 km/h for :3[ of an hour and then at a

constant speed of 13.2 kavh for %— of an hour.

28. How many kilometres in total did Patrick travel on the bike trip?

A. 152km e |Y. 3 Ha.2
C. 147km 12.2, Kn J
D. 143km /)/y 6%5 ji_‘/_/‘(:“_m



